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låtLo kqM– lj1fg / ul0ft 

!=  lj1fg           cÍ– %) 

!=! ult / zlQm  

!=!=! gfk / PsfO{ . 
!=!=@ Go'6gsf rfn ;DaGwL lgodx? . 
!=!=# Go'6gsf] u'?Tjfsif{0f ;DaGwL lgod . 

!=!=$ cfls{ldl8hsf] l;4fGt / k|of]u . 

!=!=% sfo{, zlQm / ;fdYo{ . 

!=!=^ phf{sf] ;|f]t / o;sf] ;+/If0f . 

 

!=@  xfd|f j/k/sf ef}lts ultljlw  
!=@=! k|sfzsf] k/fjt{g / cfjt{g . 

!=@=@ n]G;x? / ltgsf] k|of]u . 

!=@=# tfksf] k|zf/0f / tfk ;lds/0f . 

!=@=$ k|ltWjgL / u'Ghodfg c;/ . 

 

!=#  wf/f ljB't / r'DasTj  
!=#=! cf]Xdsf] lgod . 

!=#=@ wf/f ljB'tsf c;/x? . 

!=#=# r'DasLo If]q . 

!=#=$ ljB't df]6/, h]g]/]6/, 6«fG;kmd{/ / ltgsf] sfo{ l;4fGt . 

 

!=$  j:t'x?sf] kl/jt{g  
!=$=! ef}lts / /f;folgs kl/jt{g . 

!=$=@ cfof]gLs/0f / ld>0f . 

!=$=# cDn, Iff/ / nj0f . 

!=$=$ tTj, of}lus / /f;foflgs k|ltlqmof . 

 

!=% xfd|f j/k/sf kbfy{x?  
!=%=! clS;hg, sfj{g8fOcS;fO8 / Pdf]lgof UofF;sf] u'0f tyf pkof]ux? . 

!=%=@ ldy]g, Oy]g, OyfOn cNsf]xn / lUfN;]/f]nsf] kl/ro tyf pkof]ux? . 
!=%=# l;d]G6, ;]/fldS;, ;fa'g, Knfli6s, /f;folgs dn / ls6gfzs cf}ifwLsf] kl/ro / pkof]u . 
!=%=$ s8f / g/d kfgL . 

 

!=^  ;hLj / jftfj/0f  
!=^=! nfdv'§] / tf]/Lsf] hLjgrqm . 

!=^=@ kfl/l:ylts k4lt / vfB z[ªvnf . 

!=^=# hLj e"–/f;folgs rqm . 

 

!=& hLjg k|lqmof  
!=&=! Zjf; k|Zjf;, k|sfz ;+Zn]if0f / pT;j]bg . 

!=&=@ dfgj :gfo'' k|0ffnL .  
!=&=# dfgj zl//df /Qm ;+~rfng k|lqmof . 

 

!=*  qmd ljsfz / j+zf0f'  
!=*=! d]08nsf] k|of]u / l;¢fGt .  
!=*=@ 8flj{gsf] l;¢fGt, qmd ljsf;sf k|df0fx?, l8=Pg= P= tyf cf/= Pg= P= . 

 

!=( k[YjL / a|Xdf08  

!=(=! ;f}o{d08n, sfnf] l5b|, u|x0f / rGb|dfsf] snf . 

!=(=@ df};d / Ct' . 
!=(=# k|fs[lts ;|f]tx? . 

 

!=!)  ;'"rgf / ;~rf/ k|ljlw  

!=!)=! ;"rgf / ;~rf/ . 

!=!)=@ ;~rf/ ;fwgsf] ?kdf OG6/g]6 / sDKo'6/ . 

!=!)=# cfw'lgs k|ljlwsf ;sf/fTds / gsf/fTds c;/x? .  
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@= ul0ft          cÍ– %) 

 

@=! ul0ftsf cfwf/e"t lj|mofx¿ tyf P]lss lgod -a9Ldf # j6f /fzLx? ePsf] ;fwf/0f 

 ;d:ofx?_ . 

 

@=@ k|ltZft  

 leGgnfO{  bzdnj / k|ltZft, bzdnjnfO{ leGg / k|ltZft tyf k|ltZftnfO{ leGg 

/ bzdnjdf ?kfGt/0f ;DaGwL ;d:ofx? . 
 k|ltzt ;DaGwL ;fwf/0f zflAbs ;d:ofx?, kl/jf/Ls ah]6 ;d]t . 
 

@=# Gffkmf, gf]S;fg / 5'6  

 jf:tljs Gffkmf jf jf:tljs gf]S;fg, Gffkmf k|ltZft jf gf]S;fg k|ltZft jf 5'6 

;DaGwL s'g} Ps ePsf] ;fwf/0f ;d:ofx? . 
 

@=$ sld;g tyf s/  -sld;g, s/ / nfefFz ;DaGwL ;d:ofx?_ . 

 

@=% ;fwf/0f Aofh  / rj|mLo Aofh  

 ;fwf/0f Aofh  / rj|mLo Aofh ;DaGwL ;fwf/0f ;d:ofx?, Aofhb/, ;do k"0f{ 

;+Vof x'g] tyf ;do a9Ldf @ jif{dfq . 
 

@=^ hg;ª\Vof j[l4 / ld>x|f;   

 hg;ª\Vof j[l4 / ld>x|f; ;DaGwL ;fwf/0f ;d:ofx?, ;do a9Ldf @ jif{ cl3 jf 

kl5 / b/ k"0f{ ;+Vof ePsf] . 

 
@=& 3/fo;L cª\sul0ft   

 lah'nL / kfgLsf] ld6/ hf “r, lah'nL, kfgL / 6]lnkmf]gsf] dx;'n tyf d'b|f ljlgdo 

;DaGwL s'g} Ps ePsf] b}lgs hLjgsf 3/fo;L ;fwf/0f ;d:ofx? . 

 
@=* kl/ldlt, If]qkmn / cfotg  

 lbOPsf] gfksf cfwf/df lqe'hsf/ jf j[tfsf/ jf  cfotsf/ -ju{fsf/ ;d]t_ 

If]qsf] kl/ldlt / If]qkmn  lgsfNg] ;fwf/0f ;d:ofx? . 
 lbOPsf] gfksf cfwf/df j]ngfsf/ jf uf]nffsf/ If]qsf] If]qkmn / cfotg tyf 

3gfsf/  If]qsf] cfotg lgsfNg] ;fwf/0f ;d:ofx? . 

 
@=( tYofª\szf:q  

 lbOPsf] :tDelrq jf /]vf lrq jf j[Qlrqsf] cWoog u/L k|Zgx?sf] ;dfwfg 

lgsfNg] . 
 j}olQms >]0fL jf vl08t >]0fLsf] cfFs8faf6 cf};t -cs+ul0ftLo dWos jf dlWosf 

jf l/t jf u'0ffTds dWos jf x/fTds dWos_ u0fgf ;DaGwL ;d:ofx? . 
 

;dfKt  

 låtLokq lj1fg / ul0ft ljifosf kf7\oqmdsf PsfO{x?af6 ;f]lwg] k|Zgx?sf] ;+Vof lgDgfg';f/ x'g]5 . 

 

låtLokq lj1fg ul0ft 
cÍef/ 50 50 
PsfO{ 1.1 1.2 1.3 1.4 1.5 1.6 1.7 1.8 1.9 1.10 2.1 2.2 2.3 2.4 2.5 2.6 2.7 2.8 2.9 
k|Zg;+Vof 3 2 3 3 3 2 3 2 2 2 3 3 3 2 3 2 3 3 3 
hDdfk|Zg 25 25 
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(In English) 

PAPER II: - Science  & Mathematics 

 

1.  Science         50 Marks 

  1.1 Motion and Energy 
   1.1.1 Measurement and unit. 

   1.1.2 Newton's laws of motion. 

1.1.3 Newton's universal law of gravitation. 

1.1.4 Archimedes' principle and its application. 

1.1.5 Work, energy and power. 

1.1.6 Sources of energy and it's conservation. 

  1.2 Physical activities around us 
1.2.1 Reflection and Refraction of light. 

1.2.2 Lenses and their use. 

1.2.3 Transmission of heat and heat equation. 

1.2.4 Effects of echo and reverberation. 

  1.3 Current electricity and magnetism 
1.3.1 Ohm's law. 

1.3.2 Effects of current electricity. 

1.3.3 Magnetic field. 

1.3.4 Principle of electric motor, generator and transformer. 

1.4 Change in matter 

1.4.1 Physical and chemical change. 

1.4.2 Ionisation and mixture. 

1.4.3 Acid, base and salt. 

1.4.4 Element, compound and chemical reaction. 

1.5 Materials around Us 
1.5.1 Properties and uses of oxygen, carbon dioxide and ammonia. 

1.5.2 Introduction and uses of methane, ethane, ethyl alcohol and glycerol. 

1.5.3 Introduction and uses of cement, ceramics, soap, plastics, chemical fertilizers 

and insecticides. 

1.5.4 Hard and soft water. 

1.6 Living beings and Environment 
1.6.1 Life cycle of mosquito and mustard. 

1.6.2 Ecosystem and food chain. 

1.6.3 Bio-geochemical cycle. 

1.7 Life Processes 
1.7.1 Respiration, photosynthesis & transpiration. 

1.7.2 Human nervous system. 

1.7.3 Blood circulation in human beings. 

1.8 Organic evolution and heredity 

1.8.1 Mendel's experiment and law. 

1.8.2 Darwinism, evidences of organic evolution, D.N.A. and R.N.A. 

1.9 Earth and the Universe 

1.9.1 Solar System, black hole, eclipse and phases of moon. 

1.9.2 Weather and seasons. 

1.9.3 Natural resources. 

1.10 Information and communication technology 

1.10.1 Information and communication. 

1.10.2 Internet and computer as a means of communication. 

1.10.3 Positive and negative effects of modern technology. 
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2.  Mathematics         50 Marks 

 
2.1 Fundamental Rules in Mathematics and Unitary Method (Simple problems upto 

three variables). 

 
2.2 Percentage 

 Problems related to change in fraction as decimal or percentage or vice versa. 

 Simple verbal problems on percentage, including family budgets. 

 
2.3 Profit, Loss and Discount 

 Simple problems related to actual profit or actual loss, percentage profit or 

percentage loss or discount (any one). 

 

  2.4 Commission and Taxation   

 Simple problems on commission, taxation and bonus. 

 

2.5 Simple Interest and Compound Interest 
 Simple problems on simple interest and compound interest, rate and time in 

whole number and time upto 2 years. 

 

2.6 Population Growth and Compound Depreciation  
 Simple problems on compound depreciation or population growth, time 2 years 

before or after and rate is whole number. 

 

2.7 Household/Home Arithmetic  

 Simple problems on daily household activities as meter readings of electricity 

and water, electricity, water and telephone bills and money exchange (any one). 

 

2.8 Perimeter, Area and Volume 

 Simple problems to calculate the perimeter and area of triangular or circular or 

rectangular field, including square, using given measurements. 

 Simple problems to calculate the area and volume of cylindrical or spherical 

field and volume of cube using given measurements. 

 

2.9 Statistics 

 To find solution of the problems using information given by pie- chart or line 

graph or bar diagram. 

 Simple problems related to calculate the average (arithmetic mean or median or 

mode or geometric mean or harmonic mean) of individual and discrete series 

by given data) 

 

 

 

----The End---- 
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lj1fgsf gd'gf k|Zgx? ( Sample Questions of Science) 

1. s'g} b'O{ j:t'x? aLrsf] b"/LnfO{ b'O{u'0ff ubf{ ltgLx? aLrsf] u'?Tjfsif{0f andf s] c;/ k5{ < 

 A) b"O{u'0ff a9\5 .   B) cfwf x'G5 . 

 C) Ps rf}yfO{ x'G5 .   D) s'g} km/s kb}{g . 

 What happens to gravitational force if the distance between two bodies is doubled? 

 A) Increases twice.   B) Becomes half. 

 C) Becomes one fourth.  D) No effects 

            

2.  ;fdfGo h'Qfsf] s's'{Rrfn] eGbf lxn h'Qfsf] s's{'Rrfn] 6]Sbf hldgdf a9L ufl8G5 lsg < 

 A) lxn h'Qfsf] s's'{Rrfdf a9L an nfUg] x'gfn] . 

  B) lxn h'Qfsf] s's'{Rrfsf] If]qkmn sd x'g] x'gfn] . 

 C) hldgn] lxn h'Qfdf nufpg] pWj{rfk a9L x'g] x'gfn] .   

 D) ann] lbg] rfk an nfUg] If]qkmn;+u cg's|dfg'kftL x'g] x'gfn] . 

  Why do heel shoes press more in land than the ordinary shoes?  

 A) Because of heel shoes experience more force than ordinary shoes. 

  B) Because of area of heel shoes is smaller than ordinary shoes. 

 C) Because of up-thrust to the heel shoes by the land more than ordinary shoes. 

 D) Because of pressure given by the force is directly proportional to the given area. 

           
3. s'g} sGe]S; n]G;sf] s]lGb|s/0f b"/L 50 cm 5 eg] pQm n]G;sf] ;fdYo{ slt xf]nf < 

What will be the power of a convex lens having a focal length is 50 cm? 

A) 2 D   B) 5 D   C) 0.5 D  D) 0.02 D 

  
4.  df]6/ Okm]S6 eg]sf] s] xf] < 

 A) ljB't zlStnfO{ d]sflgsn zlQmdf abNg] c;/ . 

  B) d]sflgsn zlQmnfO{ ljB't zlQmdf abNg] c;/ . 

 C) O{n]lS6«sn zlQmnfO{ /f;folgs zlQmdf abNg] c;/ . 

 D) O{n]lS6«sn zlQmnfO{ tfk zlQmdf abNg] c;/ . 

 What is a motor effect? 

 A) Effect of changing electrical energy into mechanical energy. 

  B) Effect of changing mechanical energy into electrical energy. 

 C) Effect of changing electrical energy into chemical energy. 

 D) Effect of changing electrical energy into heat energy.  

 

5. 1000 jf6sf] On]lS6«s lx6/ 220 ef]N6sf] nfO{gdf h8fg ul/Psf] 5 eg] pQm kl/kydf slt 

Ifdtfsf] ˆo"h /fVg' knf{ < 

If an electric heater of 1000 Watt is connected to 220 Volt line, which capacity of fuse 

is to be used in the circuit? 

A) 3 A   B) 4.5 A  C) 5 A   D) 10 A 

6. PH :s]ndf s8f cDnsf] dfg slt x'G5 < 

What will be the value of strong acid in PH scale? 

 A) 1 b]lv 3 ;Dd (From 1 to 3)  B) 3 b]lv 6 ;Dd (From 3 to 6) 

 C) 8 b]lv 12 ;Dd (From 8 to 12)  D) 12 b]lv 14 ;Dd (From 12 to 14) 

7.  o"l/ofsf] c0f' ;'q tnsf dWo] s'g xf] < 

 Which of the following is molecular formula of urea? 

A) NH3 –CO –NH3  B) NH4 –CO –NH2   

C) NH2 –CO –NH3  D) NH2 –CO –NH2 
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8. hnLo kfl/l:ylts k¢ltsf] hLjlk08sf] lk/fld8 ;fdfGotM pN6f] x'G5, lsg  < 

 A) pTkfbssf] hLjlk08 eGbf pkef]Qmfsf] hLjlk08 qmdzM a9L x'Fb} hfg] ePsf]n] . 

 B) pTkfbssf] eGbf pkef]Qmfsf] ;+Vof qmdzM sd x'Fb} hfg] ePsf]n] . 

 C) pkef]Qmfsf] eGbf ljR5]bssf] hLjlk08 sd x'g] x'gfn] .    

D) pTkfbssf] eGbf pkef]Qmfsf] hLjlk08 qmdzM sd x'Fb} hfg] x'gfn] .  

  
Why does the ecological pyramid of water ecosystem normally become inverted? 

 A) Consumers mass goes on increasing than the producers mass. 

 B) Consumers mass goes on decreasing than the producers numbers. 

 C) Decomposers mass goes on increasing than the consumers'. 

D) Consumers mass goes on decreasing than the producers mass. 

 
9. ;+u}sf] lrqn] lj?jfsf] s'g hLjg k|lqmofnfO{ b]vfpF5 <  

Which life process does the adjoining figure indicate? 

 

A) Zjf;k|Zjf; (Respiration)   

B) pT:j]bg (Transpiration) 

C) k|sfz ;+Zn]if0f (Photosynthesis)    

D) kmf]6f]6]lS;; (Phototaxis) 
 

10. rfN; 8flj{gsf ;DaGwdf b]xfosf] s'g s'/f ;To xf] < 

 A) pgL ;g\ 1870 df j]unsf] ofqfdf lg:s]sf lyP . 

 B) pgn] s]/fpsf] af]6df k|of]u u/L l;4fGt kQf nufPsf lyP . 

 C) pgn] …The descent of manÚ eGg] k':ts n]v]sf lyP .   

D) pgn] …The origin of speciesÚ eGg] k':tsdf gf]j]n k'/:sf/ kfPsf lyP . 

  
Which of the following statement is true about Charles Darwin? 

 A) He had gone to Beagal tour on 1870 A.D. 

 B) He had done his experiment on pea plant. 

 C) He had written the book named "The descent of man".   

D) He had won the Nobel Prize on his book "The origin of species". 

 
11. k[YjLdf Ct' kl/jt{g x'g] k|d'v sf/0f s] xf] < 

What is the main cause of seasonal change on the earth? 

 A) k[YjLsf] jflif{s ult (Revolution of the earth)   
B) k[YjLsf] b}lgs ult (Rotation of the earth) 

C) k[YjL cfˆgf] cIfdf 9NsfO{ (Tilting of the earth on its axis) 

 D) rGb|dfn] k[YjLsf] kl/qmdf ug'{ (Moon revolving around the earth) 

 
12. g]kfndf k|lt ljBfyL{ Ps sDKo"6/ sfo{qmd (OLPC)  ;j{k|yd k/LIf0fsf] ?kdf s'g s'g lhNnfdf 

nfu' ePsf] lyof] < 

One Laptop Per Child (OLPC) program has been launched recently in Nepal which 

are the first pilot districts? 

 A) sf7df8f}+ / nlntk'/ (Kathmandu and Lalitpur)  

 B) sf7df8f}+, eQmk'/ / /;'jf (Kathmandu, Bhaktapur and Rasuwa) 

 C) nlntk'/ / sfe|]knfGrf]s (Lalitpur and Karvepalanchowk)   

 D) dsjfgk'/, d':tfË / DofUbL (Makawanpur, Mustang and Myagdi) 
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ul0ftsf gd'gf k|Zgx? ( Sample Questions of Mathematics) 

1. ul0ftLo cfwf/e"t lqmofx?nfO{ qmdj4 ?kdf /fVbf tn lbO{Psf dWo] s'g qmd 7Ls xf] < 

Which one of the following fundamental operations of Mathematics is in correct order? 

A) u'0fg, 36fp, hf]8, efu (Multiplication, Subtraction, Addition, Division) 

B) efu, u'0fg, 36fp, hf]8 (Division, Multiplication, Subtraction, Addition) 

C) efu, u'0fg, hf]8, 36fp (Division, Multiplication, Addition, Subtraction) 

D) B  / C  b'j} (B and C both) 

 
2. Pp6f sf/ 9 ln6/ k]6«f]n vkt u/L 144 ls=ld= u'8\5 eg] 160 ls=ld u'8\g slt ln6/ k]6«f]n 

cfjZos kb{5 . 

A car travels 144 km using 9 liters of petrol. How many liters of petrol is required to 

travel 160 km by same car? 

A) 10 ln6/ (liters)   B) 11 ln6/ (liters)   

C)  12 ln6/ (liters)   D) 13 ln6/ (liters) 

  
3. Pp6f sIffdf /x]sf 60 hgf ljBfyL{x? dWo] 18 hgf s]6Lx? 5g\ eg] s]6fx?sf] k|ltzt slt x'G5 <  

 In a class of 60 students, 18 are girls and rest are boys.  What is the  percentage of 

boys? 

A) 56 %   B) 50 %  C) 65 %  D) 70 % 

  
4. Pp6f k;ndf sfo{/t sd{rf/Lsf] dfl;s tnj ?= 8,000 / s'n laqmLsf] 2 Ü sld;g 5 . dfl;s ?= 

16,000 sdfpg pQm dlxgfdf p;n] sltsf] ljqmL ug'{ knf{ < 

The monthly salary of a salesman in a shop is Rs 8,000 and the  commission is 2% of total 

sales. What should be the total sales to  increase his earnings up to Rs. 16,000? 

A) ?=(Rs.) 2,00,000   B) ?=(Rs.) 4,00,000   

C) ?=(Rs.) 3,00,000   D) ?=(Rs.) 5,00,000 

   
5. tn lnO{Psf dWo] gfkmf k|ltzt lgsfNg] ;"q s'g xf] < 

 A) jf:tljs gfkmf x 100  

     ljqmod"No_ 

 B) -qmod"No — ljqmod"No_ x 100 

       qmod"No 

 C) -ljqmod"No — qmod"No_ x 100 

       qmod"No 

 D) -ljqmod"No — qmod"No_ x 100 

       ljqmod"No 

  
Which one of the following formula is to calculate profit percentage? 

A) Actual profit x 100 

   Selling price  

  B) cost price - selling x 100 

      Cost price  

C) Selling price – cost price x 100 

                                  Cost price  

 D) Selling price – cost price x 100 

                                 Selling price  
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6. Pp6f 'X' eGg] k;ndf ?= 1,000 kg]{ ;fdfg s]xL k|ltzt 5'6 kl5 ?= 750 df / csf]{  'Y' eGg] 

k;ndf ?= 800 kg]{ ;fdfg s]xL k|ltzt 5'6 kl5 ?= 640 df lsGg ;lsG5 eg] s'g k;n u|fxsnfO{ 

kmfObfhgs x'G5 < 

The discounted price of an article in shop X and Y is Rs 750  and Rs 640 respectively,  

and the marked price of same article in shop X and Y is Rs 1000 and 800 respectively. 

Which shop is cheaper for the customer? 

A) k;n 'X' (Shop X)    B) k;n 'Y' (Shop Y)  

C) k;n 'X' / 'Y' b'j} (Shop X and Y both) D) k;n 'X' / 'Y'  s'g} klg x'+b}g  

                                                      (None of the shop X and Y) 

7. tn lbO{Psf dWo] ju{sf] kl/ldlt lgsfNg] ;"q s'g xf] < 

Which of the following formula is to calculate the perimeter of a square? 

A) 2 -nDafO{ + rf}8fO{_     ( 2 (length + breadth))   

B)  4 -e'hfsf] nDafO{_       (4 (length of a side))    

C)  2 -nDafO{_ + 2 -rf}8fO{_   (2 (Length) + 2 (breadth)) 

D) dflysf ;a}    (All of the above) 

 
8. ?= 2,000 sf] k|lt jif{ 5 % sf b/n] 2 jif{sf] ;fwf/0f Jofh slt x'G5 < 

What is simple interest on Rs. 2, 000 for 2 years at the rate of 5 % p. a.?  

A) ?=(Rs.) 280 B) ?=(Rs.) 200  C) ?=(Rs.) 150  D) ?=(Rs.) 120 

 

9. tn lbO{Psf dWo] 'S'  eg]sf] rqmLo x|f; d"No, 'V' eg]sf] z'?sf] d"No, 't' eg]sf] ;do -jif{df_ / 'r' 

eg]sf] k|ltjif{ x|f; b/ eP 'S' lgsfNg] ;'q s'g 7Ls 5 < 

In the following 'S' represents compound depreciation, 'V' represents original price, 't' 

represents time in years and 'r' represents rate of  depreciation. Which one of the following 

is correct to calculate 'S'? 

A) S = V(1 – 
100

r
) t      B) S = V(1 +

100

r
) t    

C) S = V + V (1 -
100

r
) t     D) S = V - V (1 - 

100

r
) t   

10. Pp6f zx/sf] xfnsf] hg;+Vof 20,000 5 . olb hg;+Vof j[l4b/ k|lt jif{ 2.5 Ü eP 1 jif{ kl5 pQm 

zx/sf] hg;+Vof slt x'G5 < 

The present population of a town is 20,000. If the rate of population growth is 2.5 % p.a.. 

What will be population of the town after one year? 

A) 20,600  B) 20,500  C) 20,450  D) 20,250 

    

11. Go"gtd 20 o'lg6 ljB'tsf] z'Ns ?= 80 / To;kl5 k|lt o'lg6sf] ?= 7.30 kb{5 eg] 30 o'lg6 ljB'tsf] 

hDdf z'Ns slt kb{5 < 

The minimum charge of 20 units of electricity is Rs. 80 and additional  charge per unit is 

Rs. 7.30. How much charge of 30 units of  electricity is?   

A) ?=(Rs.) 173  B) ?=(Rs.) 163  C) ?=(Rs.) 153  D) ?=(Rs.) 143 

 

12. tn lbO{Psf dWo] s'g cÍul0ftLo dWos lgsfNg] ;'q xf] < hxfF 'f' n] af/Daf/tf, 'N' n] af/Daf/tfsf] 

of]ukmn /  'x' n] rn/flz hgfpF5 .  

Which one of the following is formula to determine the arithmetic mean?  Where 'f' 

represents frequency, 'N' represents total frequency and 'x'  represents the variable. 

 A) 
1



N

fx
  B) 

1



N

fx
  C) 

2



N

fx
  D) 

f

fx




  


